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S-3(15) |H1E 3/23 066 12] ND ] 00075] ND ND ND ND ND ND| ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-3(16) |Fi& 3/23 091 12] ND ] 00086] ND ND ND ND ND ND| ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-4 GYE 3/21 120 13[ NDJ 0019] ND ND ND ND ND ND| ND| ND| ND[ ND| ND| ND| ND| ND] ND| ND ND ND
S-5 BoE 321 128 025 ND | 0021 ND ND ND ND ND 0016f ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-6 EREFE [321 12 044 ND| 0024 ND ND ND ND ND | 00095] ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-7 E5i% 321 128 058 ND| 0048] ND ND ND ND ND ND| ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-8 IBTnts 3/21 128 12] NDJ| 0098] ND ND ND ND ND 0034] ND| ND|[ ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-9 ZEE 321 126  018] ND ND ND ND ND ND ND ND| ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
S-10  |AF#E 3/21 1285 0078] ND ND ND ND ND ND ND ND| ND| ND| ND| ND| ND| ND| ND| ND| ND| ND ND ND
% IR FE 00034 0005] 00031 00062 05| 0012 000090 000035] 00053{ 00046] — ]00027]00042] 0005] 00045 — ] 00045] 00064] 00029 001 001

-7 2= N4-(1-7 22V F T IV, 1a-7 2= V-da-(1-7 == VEF VTRV /| a7 == )b-de(1-7 == V2 F W) TRSY | le-7==M-4a-(1-7 2=V 2F V)T IV B e-7 == bde-(1-7 == A TF V)T ISY D AH

ND IR bk,




g3-11t0 oo bonouoooononon

Oy g/kgd
0000000000 |oooooooool|ooooooo OooDoooovocoonon EEE[DD vVoC
0000200 0000300
—
. )
= - O
| 0 % R 3 =
P » P = o P 0 - n ? m) o N
3 T 3 O O @ i X » O O & i 3
O 5 5 5 O - - O - O o O 5 ) O O = O 0
No 00O o - = - O = - O - = = O - O = = B ]
" = O O O O o O t O - o - O - O O — -
O O O O - 5 = O - =] =] O O - O =] - = O - O
O O O O - O = O = O O O o - O =] - - = O i
O O O O 5 O O O O O O O O AN : O ] ) (]
= O O O - O = = = = O =) = = > = = o O
O O O O O O O O O O O O - - o O O
O m| O O o m| - O O O O o m|
[} O O O O
O O a O
O O
O
S1{000 841 N.D. 1.2| N.D. 1.1 N.D. 0.51 0.34]] N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.[ N.D.|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
S2|00000 160 | N.D. 59| N.D. 13 N.D. 0.34 0.18 0.79] N.D.| N.D.| N.D.] N.D.[ N.D.|] N.D.J| N.D.| N.D.|] N.D.| N.D.| N.D.] N.D.
S3(00 37| N.D.| N.D.| N.D. 4.8 N.D. 0.22 0.19]] N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.[ N.DJ|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
S4 (000 2,100 | N.D. 6.5| N.D. 12 N.D. 10 N.D.[| N.D.] N.DJ[ N.D.|] N.D.|] N.D.| N.D.] N.DJ N.D.] N.D.|] N.D.| N.D.] N.D.| N.D.
S5(000 39| N.D.| N.D.| N.D. 33 N.D. 0.61 0.18| N.D.| N.D.J| N.D.] N.D.| N.D.] N.D.[ N.DJ|] N.D.] N.D.| N.D.] N.D.] N.D.| N.D.
Sel|l0000 15 N.D.| N.D.| N.D. 130 N.D. 0.64 0.21|| N.D.| N.DJ| N.D.| N.D.| N.D.|] N.D.[ N.DJ| N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
S7|000 N.D.| N.D.| N.D.| N.D. 27 N.D. 0.64 0.37|| N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.[ N.DJ|] N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
S8|0000d 591 N.D. 1.8| N.D. 6.5 N.D. 0.19 0.18| N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.[ N.DJ| N.D.] N.D.| N.D.] N.D.| N.D.| N.D.
Sol000d 8.8| N.D.| N.D.| N.D. 19 N.D. 0.30 0.65 1.5 N.D.| N.D.] N.D.| N.D.] N.D.] N.DJ| N.D.] N.D.| N.D.| N.D.] N.D.| N.D.
S10(0 00 N.D.| N.D.| N.D.| N.D. 6.9 N.D. N.D. N.D.|| N.D.] N.DJ[ N.D.|] N.D.|] N.D.] N.D.] N.DJ N.D.] N.D.|] N.D.| N.D.] N.D.| N.D.
oooono 049] 0.35| 0.99| 0.62 0.47 0.29] 0.025| 0.025 0.30] 0.40 —| 0.16] 0.094| 0.17| 0.17 —| 0.055| 0.16 0.3] 0.76 0.32
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1| =q 36 654 14 N.D.| N.D.| ND.|| ND.[ N.D.| 0.78] N.D. N.D.| N.D) N.D.[ N.D.[ ND.| ND.| NDJ ND.[ ND. ND. N.D. ND.[ N.D.
2| 24 32 581 11| N.D.[ N.D.[ ND.f[ ND.[ N.D.[[ 009 | N.D.| N.D.| NDJ ND. ND. ND. ND. NDJ ND.[ ND. ND. N.D. ND. N.D.
3| oA 31 563 N.D.| N.D.| N.D.[ N.D.| 0.82]| N.D.|| 0.36 31| N.D.] N.DJ ND. ND. ND. ND. NDJ ND. ND. ND. ND. N.D. N.D.
4| =24 53 1030 15| N.D. 15| N.D.|[ ND.[ ND.f[ 034 N.D.[ N.D. N.DJ) ND.| ND. ND. ND. NDJ ND.[ ND. ND. ND. ND. N.D.
5| oA 41 1053 11 N.D.| N.D.| ND.|| ND.| ND.ff 0.25 1.7 N.D.| N.DJ N.D.[ ND. ND. ND. NDJ ND. ND. ND. ND. ND.[ N.D.
6| A 39 976 0.90| N.D.| N.D.| ND.|| ND.| ND.|f 011 N.D.f[ N.D.[ N.DJ N.D. N.D. ND. ND. NDJ ND. ND. ND. ND.[ ND.[ N.D.
71 aAq 34 678 28| N.D.| N.D.| ND.|[ ND.[ N.D.| 0.77] N.D. N.D.| N.D) N.D.[ N.D.[ ND.| ND. NDJ ND. ND. ND. N.D. ND.[ N.D.
8| A 33 522 92| N.D.[ N.D.[ ND.f[ N.D.[ N.D.[| N.D.| N.D. N.D.| NDJ N.D. ND. ND. ND. NDJ ND.[ ND. ND. ND. ND. N.D.
9| =4 31 530 87| N.D.| N.D.| N.D.|| N.D.| N.D.f[ N.D.| N.D. N.D.| N.D) N.D.[ N.D.[ ND.| ND. NDJ ND. ND. ND. N.D. ND.[ N.D.
10| =21 30 358 25] N.D.[ N.D.| N.D.|]| ND.|] ND.|[0.097] 059| N.D. N.DJ ND.] ND. ND. ND. NDJ ND.] ND. ND. ND. ND.[ N.D.
ooogo 0.49 0.50 0.68 0.64 0.49 0.48| 0.029( 0.025 0.29 055 — 0.36] 0.41) 0.52 0.66 — 0.31) 0.16] 0.55[ 0.39 0.59)

#1-7 2= V-4 (17 == L= F V)T RFUR, la T == b-4a(l-7 == L= F V)TV laT ==b-4e(1-7 == L= F )TV, le7 == b-da(l-7 == L= F )T L Me 7 == b-de(1-7 == L= F V)T RS U L DA
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No. ooo oo oa pH DO ss 0oog 000 (0000 TN T-P TOC
Q) @) (mg/L) | (mg/L) || O g/em’D | O %0 (%) (mg/kgddry) | (mg/kgldry) | (%)

S1 |ooo 140 11.0 7.8 11.0 48 2.976 17.0 2.33 100 350 0.18
S2 |ooooo 124 128 7.8 96 26.8 2.627 474 7.43 1600 1400 1.87
I EE 133 122 75 6.9 432 2.676 421 6.31 1550 1300 1.70
S4 00D 16.8 11.8 7.8 9.2 3.6 2.292 67.8 9.79 5350 1700 4.68
S5  |oOD 118 8.3 7.6 89 4.4 2.743 220 3.28 100 460 0.22
S6 |oooOO 9.0 131 8.0 11.0 128 2.940 17.3 273 150 410 0.26
S7 OO0 8.6 10.3 7.6 8.9 15.7 2.664 36.1 6.12 1100 1100 1.67
S8 |ooOD 9.0 125 7.8 8.8 21.1 2.791 20.6 355 400 720 0.74
S9 |ooo 1.2 105 76 9.0 131 2.550 42.7 7.18 1450 910 2.02
S10 00D 8.8 10.2 6.7 8.1 254 2.794 243 4.05 150 350 0.59




U340 ugdoguuoobouoooooooboogn

000 (S1) 00000 (S2) 00 (S3)

oooa oo oad oad

Mo | ) | TH L mgy L] M | ) | P | o | men] N | @) | OH | gy | o)
321 1200 S1(1) | 11.0 7.83 11.0 48 | S2(1) 12.8 7.8 9.6 26.8 || S-3(2) 12.2 7.53 6.9 43.2
3/21 150 S1(2) | 129 7.99 11.0 5.8 S3(2) 12 7.42 57 66.4
3/21 180 S1(3) | 11.8 7.67 8.6 50 || S2(2) 11.9 7.8 8.1 19.2 || S-3(3) 11.7 7.41 5.0 11.4
321 210 S1(4) | 118 7.06 6.4 11.0 S-3(4) 11.5 7.31 4.8 8.0
3/22 ooO|f S1(5 | 111 7.5 6.1 6.6 || S2(3) 111 7.7 7.1 20.8 || S-3(5) 11.2 7.32 4.8 9.2
3/22 030 S1(6) | 10.0 7.47 6.0 6.8 S-3(6) 105 7.29 4.8 7.2
3/22 o060 S1(7) 85 7.43 6.5 6.6 || S-2(4) 9.8 7.5 79 158 || S3(7) 10.8 7.43 55 19.4
3/22 090| S1(8) | 10.3 7.54 7.7 58 S-3(8) 12.2 7.52 6.2 20.7
3/22 120 S1(9) | 138 7.97 11.0 6.8 || S-2(5) 15.1 79 9.3 53.0 || S-3(9) 14.2 7.52 6.5 15.4
3/22 150/ S1(10)| 15.8 8.12 11.0 8.4 S-3(10) 141 7.45 5.9 12.7
3/22 180(S1(11) | 131 7.78 9.1 104 || S-2(6) 12.3 7.8 8.4 214 || S-3(11) 11.8 7.43 5.0 14.7
322 210(S1(12)| 114 7.34 6.3 9.8 S3(12) 11.3 7.35 4.9 9.4
3/23 000 [|S1(13)| 101 7.4 6.0 88 || S2(7) 9.9 7.6 7.3 18.0 | S-3(13) 10.8 7.35 5.0 9.7
3/23 030 |S1(14) 9.3 7.36 6.0 6.6 S-3(14) 98 | 7.37 52 9.4
3/23 060 [| S-1(15) 8.4 7.4 6.6 54 || S-2(8) 9.0 7.7 8.3 18.8 || S-3(15) 9.2 9 55 14.7
3/23 090 || S-1(16) 8.9 7.54 8.5 4.6 S-3(16) 109 7.54 6.3 10.7




03-150000noooo@uood

ala ooooo oooooo oooa ooooo
oo ogdno ogd ogd oadao OO OO oon ogdno ogd ogd
(km) [ No 7 3 No 7 3 3 No 7 3
(m) | em/s) | (m’/h) (m) | n/s) | (m/h) | (m’/h) (m) | em/s) | (m/h)
A |S-100 S92.970 |S-10 0.44 2.80 45 45 |S9 1.43 6.31 320
B |S90 S-3 4.180 (S9 1.43 6.31 320 320 |S-3 0.61 19.12 420
C |S30 S8 .250 |S-3 0.60 19.1 420 420 |S-8 0.90 20.68 670
D |S80 S-7 [2.240 |S-8 0.90 20.7 670 670 |S7 2.47 10.39 920
E |S70 S-2 [3.870 |S-7 2.47 10.4 920 920 |S-2 291 10.31 1080
F |S20 S6 [3.480 (S-2 291 10.3 1080 1080 |S-6 0.94 33.49 1130
G |S60 S5 R.710 |S6 0.94 335 1130 1130 |S5 141 26.41 1340
H |S50 S1 [1.630 (S5 141 26.4 1340 |S4 0.18 19.4 130 1470 |S-1 3.10 13.42 1500




03-160donooo@uoooog

000 (5D To000 (50 T 0 (53)
bood 000 |ggogl| OO 000 |ggogl| OO 000 |ggogl| OO
No. m) | (cm/s) | (m%n) No. m) | (cm/s) | (m%n) No. m) | (cm/s) | (m%n)

322 120 S-1(2) 3.10 134] 1500 S-2(D) 2.91 103] 1080 S-3(1) 0.60 19.1 420
322 150 S1(2) 3.10 15.9 1780|| S3(2) 0.60 16.5 360|
3/22 180 S1(3) 3.10 16.8] 1890 S2(3) 312 106] 1190 S3(3) 0.63 17.8 410|
322 21 S-1(4) 2.97 17.1 1840|| S-3(4) 0.74 19.0 510]
3/23 000 S-1(5) 2.97 126] 1350 S2(5) 312 103] 1160 S-3(5) 0.77 18.8 520
3/23 031 S-1(6) 2.97 144 1580| S-3(6) 0.58 14.4 300]
3123 061 S-1(7) 3.10 146] 1630 S2(7) 2.91 9.0 940 S-3(7) 0.58 19.0 390
3/23 09F| S-1(8) 2.97 144 1540 S3(8) 0.63 16.9 380|
323 121 S-1(9) 2.97 15.1 1620 S-2(9) 312 111 1240 S-3(9) 0.67 19.5 470|
3/23 150 S-1(10) 2.97 123 1320| S-3(10) 0.69 12.4 310
3/23 18M| S-1(11) 2.97 134 1430 S2(11) 312 9.9 1110 S-3(11) 0.72 18.2 470|
3/23 210 S-1(12) 2.97 153] 1630| S3(12) 0.74 18.1 450|
3/24 00M| S-1(13) 3.10 108] 1210| S2(13) 312 133[ 1500 S-3(13) 0.74 17.1 460
3/24 030 S-1(14) 3.10 16.0]  1780| S-3(14) 0.60 17.4 380|
3/24 06| S-1(15) 3.10 125] 1390 S-2(15) 3.01 104] 1130 S3(15) 0.52 174 360|
3/24 09FF|| S-1(16) 2.97 140[ 1500] | S3(16) 0.63 174 430}
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BRICBT 20 E ORRE OKE)

(nglL)
0000000000 |jpoocooooooooOOOOO 0ooooooOovocoooo oo | vee
0000200 0000300
e
- O
Q. o w =
O ¢ % N o g
B IN B =) O I = AN IN > m] o N
3 w 3 o @ w S P O A EN =
T T O O O O h O 3 ] .
O O O O O O O (] O O ] O ™ = O
O O O O =] O o o O O 0 O
No. ooo O - o - O - O O - = = o |
O = O O . m| | ] O O = O O ] O
O O O O O O O O O O O O O o O O O g O =
O O O O 5 ] O O O O | =) [} O O O O = (=] = |
- O o i O g o - | = g = a g iR m] o = -
o o = = O - o - = - o = o o S o = o =
O = O O O O O . O g = O = O - O O
O o = o = o - = = = O = o
O O o ]
= O O O
= O =]
]
T-1[000 053] N.D.] 0030] N.D.J[ ND.] ND.J ND.] ND.J NDJ] NDJ ND] NDJ NDJ] NDJ NDJ[ NDJ] ND] NDJ] NDJ[ NDJ ND
72000400 |[ 047] ND.J0013] ND.J ND.| ND.J ND.| NO.J ND|] NDJ ND] nND| ND[ ND| NDJ ND| ND[ ND| NDJ ND| ND
T-3[0000 0082 N.0.| 0006] N.D.J NO.[ ND.J nND.[ ND.J[ ND] NDJ[ ND] ND|] ND] ND|] NDJ ND|[ ND] ND[ NDJ ND] ND
T-4|0000 0094 N.D.| ND.[ ND.J ND.[ ND.J ~ND. [ ND[ ND] NDJ[ ND] ND|[ ND] ND|] NDJ ND[ ND] ND[ NDJ ND[ ND
750001 014] N.D.[ ND.| ND.J[ ND.] ND.J[ ND.| ND.J ND| NDJ ND] ND| ND| ND[ NDJ| ND] ND| ND] NDJ[ NDJ] ND
T6[0002 015] N.D.[ ND.| ND.J[ ND.| ND.J[ ND.| ND.Jfooose]| NDJ ND] ND] ND| ND| NDJ| ND] ND| NDJ] NDJ[ NDJ] ND
770003 044 N.D.[0.0041] ND.J[ ND.| ND.J[ ND.] ND.J 004 ~NDJ ND|] ND] ND| ND| NDJ| ND] ND| NDJ] NDJ NDJ] ND
T-8[0O004 025] N.D.[o.0048] N.D.J[ ND.| ND.J[ ND.] ND.J ND|] NDJ ND] ND[ ND|] ND[ NDJ| ND] ND| NDJ NDJ[ NDJ] ND
T9[0OOs5 043] ND.[ ND.] NDJ[ ND.] ND.J[ ND.] ND.J ND| NDJ ND] ND[ ND| ND[ NDJ| ND] ND| NDJ] NDJ[ NDJ] ND
T-10[0006 088] N.D.[ 0022] ND.J[ ND.] ND.J[ ND.] NDJ ND] NDJ ND] ND[ ND] NDI NDJL NDI NDJ NDJ NDJ ND] ND
00000 0.0034] 0.005] 0.0031] 0.0062]] 05[] 0.012][0.00090] 0.00035]] 0.0053] 0.004¢] — T 0.0027] 0.0042] 0.005] 0.0049[ — T 0.0045] 0.0064] 0.002d] 0.01] o001

*1-T 2 =)V -de(1-7 == VT V) TRV, la 7 2= b-da (-7 == L2 F L) TR laT == b-de(1-7 == L= F )W) T RT ) | 16T == b-dar(1-T == )L 2 F V)T RIS R UMle 7 == b-de(1-T == )L =T V)T R U L O

N.D.: % tH IR S A 27~ 9,
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- o o O o = =] S| o o = = =] g o = o
o = = O = o = = = = 2 O
o o = =] o
) o a () o
O o o
)

T1 000 N.D. D D D. 56 D 052 03| 13 D 5 D . D D. b D. ) D. D. 5
2 [D00400 0.94 D D D. 2 D 10| _ND. 2.7 D. D. D D. D D. D D. D D. D. D
3 (D000 D D D D. 15 D 069] ND. D. D. D. D D. D D. D D. D D. D. D
4 [0000 D D D D. 8.4 D 043] ND. 9 D D. D D. D D. D. D. D D. D. D
5 (000 D. D D D. 16 D 077] _ 050|| N.D. D. D. D D. D. D. D. D. D. D. D. D.

T6 000 ND. | ND._ | ND N.D 2] _ND 13| 050] 26 ND._ || ND._ | ND ND. | ND. | ND_|| ND. | ND_| ND._| ND._| ND_| ND.

T7 [000 ND. | ND. | ND._| ND. 250] _N.D. 15] _046]| ND_ | ND._ | ND. | ND_| ND. | _ND ND._|[_N.D ND. | ND ND. | ND N.D

T8 D004 ND. | ND. | ND N.D N.D N.D 026] _ 040|| ND. | _N.D. | ND. | ND ND. | ND N.D. |[_N.D ND. | ND. | N.D._| ND._| ND.

T9 [D005 ND. | ND. | ND N.D N.D N.D 11| 053] 34 ND. || ND. | N.D ND. | ND N.D. |[_N.D ND. | ND. | N.D._| ND._| ND.

T100006 9o ND_| ND N.D ND ND 10l o074 ND_| ND |l ND_| ND ND_| ND | ND |l ND_| ND | ND | ND | ND | ND.

00000 049] 035] 099] o062]] 047 029] 0025] 0025][ 030 | 0.40 — 016 | 0094 | 017 | 017 0055 | 016 | 030 | 076 | 032

N-4e(1-7 == VB F )TV, la7 == b-4a(1-7 == V= F TR a7 == )b-4e(1-7 == L= F ) TRTY | leT == b-da (-7 == /b

R PRSI 273,

FINTFIFVY R leT == -de (17 ==V = F TR D
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OClaofolafo|Bla|Bfall = =l o|o|® |2 |0
KR oo - O O O O o - - O - O O O O
No.| #uff = ol 2102 | o o = -
(cm) () O O O O O O O o O O = o =
m] O O O O m) O m] = O O O ) O O O O o o O d
olololaolz|loloclolalololololalolo o |l o | Do
> O [m]
clololall?2leflaclelalc olo|l ol e B8l lo|o
clololal2leflaclelale olololB l2ls]|olo
ODlo|lo|lolfg]|®E = - o| % |o|o olol<s|olo
oclolo o o olo|l ol a 5 | o
O = i B I
O - O m] o
o ] o
O
1] 2o 42 1065 11) N.D.|] N.D.| N.D, 17{ N.Df 0.78] 0.13| N.D.| N.DJl| N.D.] N.D.[ N.D.[ N.D.|] N.DJ| N.D.] N.D.|] N.D.|] N.D.| N.D.[ N.D.
2| a4 46 1206 14| N.D.| 070 N.Df 6.1 N.DJ| 12] 026] N.D.] N.DJ[ N.D.f N.D.|] N.D.| N.D.| N.DJ| N.D.| N.D.[ N.D.[ N.D.| N.D.| N.D,
3| oA 38 699 53] N.D.| 10| NDJ 21] N.DJ[ N.D.[ 0.093 N.D.] N.DJ| N.D.| N.D.] N.D.| N.D.| N.Df[ N.D.] N.D.| N.D.| N.D.| N.D.| N.D.
4| 2o 36 658 82| N.D.| N.D.| NDJ[ 61f N.DJ0.067] 020] N.D.| N.DJ| N.D.| N.D.f N.D.f] N.D.| N.DJ| N.D.| N.D.| N.D.| N.D.| N.D.| N.D.
5| aAg 39 628 0.58] N.D.| N.D.| N.DJ| 20[ N.Df 027] 024 N.D.| N.DJ| N.D.]| N.D.[ N.D.f N.D.|] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.[ N.D.
6| =A 37 547 24] ND.] ND.] NDJ 18 N.DJ 046] N.DJ N.D.] NDJ N.D.] N.D.] N.D.] N.D.] N.DJ| N.D.] N.D.] N.D.] N.D.] N.D.] N.D
AIEE 44 917 14] ND.] ND.] NDJ 21| N.DJ| 054 N.DJ N.D.] N.DJ N.D.] N.D.] N.D.] N.D.] N.DJl N.D.] N.D.] N.D.] N.D.] N.D.] N.D
8| A 41 901 0.97] N.D.| N.D.| N.DJ| 052 N.Df 0.23] N.DJ| N.D.| N.DJ| N.D.| N.D.[ N.D.[ N.D.|] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.[ N.D.
9| 2o 36 692 12| N.D.| N.D.| N.D|| 0.56] N.DJ| 0.37{ 0.030ff N.D.] N.DJ| N.D.| N.D.] N.D.| N.D.| N.Df[ N.D.] N.D.| N.D.| N.D.| N.D.| N.D.
10| =m0 38 624 054] N.D.| N.D.| N.DJ| N.D.| N.DJ 0.60] N.DJ| N.D.| N.DJ| N.D.] N.D.| N.D.] N.D.| N.DJ| N.D.| N.D.|] N.D.] N.D.] N.D.] N.D.
11| 7 30 498 N.D.| N.D.| N.D.| N.D.|| 05| N.D.|{ 0.80| 051} N.D.] N.DJ| N.D.] N.D.| N.D.[ N.D.] N.DJ| N.D.| N.D.| N.D.] N.D.[ N.D.| N.D.
12| 7 28 343 N.D.| N.D.| N.D.| N.D.|| 13| N.D.|f 042 20| N.D.| N.DJ| N.D.| N.D.| N.D.f N.D.] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.| N.D.
13| 77 27 416 0.77] N.D.| N.D.[ N.D.f{ 14| N.D.|| 0.20| 0.68]| N.D.| N.DJ[ N.D.f N.D.|] N.D.| N.D.| N.DJ| N.D.| N.D.[ N.D.[ N.D.|] N.D.| N.D,
14| 77 25 268 N.D.| N.D.| N.D.| N.D.[| N.D. [ N.D.[[ N.D. {0.057| N.D.| N.DJ| N.D.| N.D.| N.D.[ N.D.] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.| N.D.
15| 77 28 333 N.D.| N.D.| N.D.| N.D.|| N.D. | N.D.[[ N.D.| 0.25|] N.D.| N.DJ| N.D.| N.D.| N.D.[ N.D.] N.DJ| N.D.| N.D.| N.D.] N.D.[ N.D.| N.D.
16| 77 27 249 N.D.| N.D.| N.D.| N.D.|| N.D. | N.D.|[ N.D.| 0.16} N.D.| N.DJ| N.D.| N.D.| N.D.[ N.D.] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.| N.D.
177 24 238 N.D. | N.D.| N.D.| N.D.| N.D.| N.D.| N.D.| N.D.|| N.D.] NDJ ND.] ND.] ND.] ND.] NDJ ND.] ND.] ND.] N.D.] N.D.] N.D
18| 74| 23 259 N.D.[ N.D.| N.D.| N.D.| 17| N.D.|N.D.[0.075|| N.D.] NDJ ND.] ND.] ND.] ND.] NDJ ND.] ND.] ND.] N.D.] N.D.] N.D
19| 77 26 276 N.D.| N.D.| N.D.| N.D.J| 33| N.D.[[N.D.| 0.97| N.D.| N.DJ| N.D.| N.D.| N.D.f N.D.|] N.DJ| N.D.| N.D.| N.D.| N.D.[ N.D.| N.D.
20| 75 24 324 N.D.| N.D.| ND.| N.D.J| 14| N.D.|[0.058] 0.22]] N.D.]| N.DJ] N.D.] N.D.] N.D.f N.D.] N.DJ| N.D.]| N.D.|] N.D.] N.D.| N.D.|] N.D.
ooooo 0.49( 0.50] 0.68| 0.64| 0.49] 0.48{[0.029]0.025|| 0.29f 0.5 — 0.36) 0.41f 0.52| 0.66] — 0.31] 0.16[ 0.55] 0.39 | 0.59

*1-7 2= )V-4-(1-7 2= VT )W) TRV, la 7 == b-da(1-7 == V= F V) TRV | laT 2= )b-de(1-7 ==LV = F V)T IV | le T == V-da (-7 = =)V =F V)T IV Mle 7 = =)b-4e-(1-7 = =)L T.F

N.D.: e BRI A 2 5
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g320bbbgdogoobobbudooobobbnoggan

oo oo
No. oono DO SS oo gogo|oooo T-N T-P TOC
(mg/L) | (mg/L) |0 g/em®0 | O %0 (%) (mg/kgddry) | (mg/kgOdry) | (%)
T-1 ooa 75 7.2 2.74 23.1 2.82 100 450 0.15
T-2 Oooo400 53| 6.2 2.643 40.1 4.85 850 940 1.06
T-3 ogooo 84 40 2.651 33 5.30 700 1000 1.52
T-4 oo 11.0] 39.9 2.675 26.5 2.56 150 310 0.53
T-5 ooo1 15.0| 274 2.415 82.1 17.0 6250 2100 6.69
T-6 oooz 14.0( 50.9 2.414 81.6 15.8 6400 1400 6.57
T-7 ooos 18.0( 449 2.465 80.2 15.6 5100 3000 5.74
T-8 ooo4 210 354 2.675 45.8 4.25 650 860 1.48
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